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A4 =90

=94 ﬂcf‘:-q_

s s uad - S denths = 9

b Yeriths = O. (o

T

H.H =99

.M - 169

0.54 =9 = 54U ymdwedths =9

= (o humdaedtns = 0.0(g

O.54+=4D =

OS54 % 15 =9

0.054 =94 = 54 thovsandtas 9

= (o Phovsandths = 0.00e

5U =900 { 5.4=900

154 % 100 + ¢ (5.0 =100+ 9

0.54 =9 = 5Y hymdnddes =9 {0054 & =

= (o huwdadths = ©.0( A thovsanddhs ~ 9

% (¢ Hhorandths = 0.Q0




A STORY OF UNITS Lesson 24 Problem Set ! ?'! L c’ j

Name Date

1. Divide. Show the division in the right-hand column in two steps. The first two have been done for you.

a. 12:6=0.2 b. 1.2:60=(1.2+6)+10=02+ 10 =0.02
c. 24:4=_Q0.l d. 2.4:40= O.0

4 tenths = Y 2410+ 4 .

= (o Yordthns = 0.0 0.24 = Y4 = 94 naadnedins + Y

= L humdadths = 0.90

e. 147:7= 2.\ 2\ f. 147+70= O 2\

IHT Yerdthns = 7 e ‘{f{ 4.3 =10 = 7

= d\ Yent\nsg = 9.\ T"-‘ l.'-t'-}—.-‘-t: \L\.:\' hlmm.d'\’hS'J:[-

= A hundagthns = 0.2)
g 034+2= O\q' h. 3.4+ 20‘ O \_'{'
QI_'{ :

24 hwwdedts = 2 —10 -2
17 humdaeddns - 0.\t w 03"‘ 3 = 34 huvdnackns 7
Bty '+ huwndaedias = O \%
i. 045:9= 0.05 © . 04s:90=_(.005
OMA HS humdasdting = 9 O45 =109
5 humdagditns = 0.045 =q = 45 Hhosandtus =9
005 S Hhovsandths = 0.005
k. 3.45:3= 1‘5 (VS5 | 345:300= O \MS

U5 humdadhs =3 3%‘*5 345+ 100+ 3
1S huwdieddhs oY 0.345+ 3 = 3U5 Fhowmdths =

T 15 thovsandthes = 0.\\§

Lesson 24: Divide decimal dividends by multi.um.g—l-ﬂ, reasoning about the
EU REKA placement of the decimal point and raking connections to a written 328

MATH method.
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